9. In how many ways we can arrange 5

& 62 % 65 '(4 C1 C'lg <<l <75) boys and 5 girls in a row such that@
—_— e e — & the girls are together?

/& Tohad ol @ 5 weHt 3 5

Gzéi,c‘lgcn.(u— asfral ) vF FaR A 3W @@

qafeyd & FHd & & st
%[ X5 ;fgm T @Y g
— 5! X 6! b) (5!)2
= Qx5S xS/ c féw d) 6!
= 61" 61z x5y Byx |
=65

-~
-




50 . In how many ways we can arrange 5
boys and 5 girls in a row such thatEo
C—, IS two boys are together?/ '
— — BH Thde dlldl A 5 oIsal AR 5
asfFal F tHF FAR H 59 RE

-—p— -

) plirgiobyll Al
4 ) 2 5% TH A1y 7 §i?
51« Pg = SI¥8l=6x(5)) a) 5!5p, 5!6p,
c) 5! d) 6!
6., 6,_
M = P=6!
P =ﬂP =hl iS ¢
N-| n o

OYEXUYINLT OXOx Y3y ()

[



51. In how many ways we can arrange 5
boys and 5 girls in a row such that all

'—C"l-_ C”z._-__(-‘lz, _'_<7'4 _ C"?_‘thegirls and boys sit alternate?

- gA frasr afiwl ¥ 5 @sH AR 5
aSfhal FI TH FIR H 30 @
qafeyd F FHA § F welh

51 x5] asfar 3R a5F tEFedRe 887
2 x (52 b) 5! 6
+ oK ¢) 5! x 5! a6
Slx 51
Ax5Ix5 |




52. In how many ways we can arrange 5

AL o Mt Caddh W} +An's w boys and 5 girls in a row such tha@

e the girls don’t sit togeth% e
L-egured v §H el il &@ 5 5
Totod - <’7 ) asfral # e FAR H 5@ a@

J qafeyd &7 dFd ¥ ﬁ? waft
asfhdT U AT oF 387
D! — €1x5] a) 5! 5! b) 5! 65,

/ﬁm _516! d)6!




Quick revision:

1. All the girls are together = &/ X 5./
2. Notwo boys are together = 5| x éps

3. Alithegirls andboyssitalternate = S1 5) + 5| 5

4. All the girls don’t sit together = Ty { - Qs-l Cae)




51x5/

53 In how many ways we can arrange 5
boys and 5 girls in a circle such that
all the girls are together?

g fFaa alist @ 5 @3+ IR 5
asfral A uw qgr:ﬁrsvarg
aftyq W wHa § &
asfFar v @y §1?

a) 5! X 6! 8 (51)2

c) 5! d) 6!

BU B, By 1.’>wf5
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54. In how many ways we can arrange 5

G 42 o boys and 5 girls in a circle such that
93 — 7Y "5 (o two boys are together?)

§H Thdd o & 5 dsHl 3R 5
asfhal # TH 9T H FH @
qaftyd &7 @Fd § & 2 i
& I5F TH WY T 817

415! b) 5! 65,
c) 5! 5! d) 4! 6!




55. In how many ways we can arrange 5

Todal — . dhe 73/’/3 Gt boys and 5 girls in a circle such that

%M@I the girls don’t sit together?)
ql - 5/x5) §H Thdel i@ & 5 8% 3K 5
© e asfhal # TH g9 H IH @
gafeyd & @hd ¢ B weht

TH AT o §3?
9! — 5!5! b) 9! — 5! 6!
c) 10! — 5! 6! d) 6!




56. In how many ways can we arrange the
letters of wordj|

FLIPKART 2Isg )3 3T&=ITT F g frda
aF! A(caafRya FT TFa &7
a) 120 b) 720

¢) 5040 _A740320

| =
&l=uo32o KPLIFRT A




57. In how many ways can we arrange the
letters of word MéTI-fEMTICS?
b ’ o
MATHEMATICS er6g & @ 31&8Rf & &H

frae aF ¥ OafeyT &7 gFd 82
10! 11!

a) 21312! 21212!
11! 10!

C) 212131 )2!2!2!




14 58. Find out how many arrangements of letters
5, Y many arra
| of word MANMOHANA are possible such
6! X)ﬁ/ at all the vowels are tm
FfSA ¢ MANMOHANA & &R
2R ¥ fFaa eeal Y e wag ¥ afe

aft X v 91T @2
a)5 b) 180
¢) 30 ﬁzo




59. How many words starting with E and
not ending with N can be formed
using each letter of word EDUCATION
only once? i
EDUCATION € & Ycdeh 38T &l
Fad TH IR TIT F & E F AR
A arer 3k N & wATA A g
arel fohciel Usg IATT AT Tt 87
a) 7! b) 6 X 7!

/7><7! d) 8!




60. In how many ways can we arrange the
letters of word GIYASUDDIN such that

20 all the/vowels occupy odd pIaceQ
_RAeKT GIYASUDDIN g & 37aTY & &H

5})(9)(6!

fFdet YR ¥ Ua®Ud T FHhd
2t 2t el ¢ & wf v e sl woE
1600 b) 43200

= XK JD ¢) 14400 d) 12800

n)
\q .




6. How many distinct 8-digit number
can be formed by rearranglng the
digits of the number 11223344
-t - F— £ — such that odd digits occupy odd
positions and even digits occupy
even positions?

Y) x‘ﬂ wE 11223344m; ol
21 21 JAcdafeyd 8-31FI #
2121 " 212l il Mvpeli S

s YR & fAvw 3¢ RwA

= 6x6=3¢ Fm Wﬁﬁ iR wF 3T @A
T 9T & ?
a) 12 b) 18

e d) 72
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62. How many numbers greater than
1000000 can be formed by using the
digits 1,2,0,2,4,2,4?

6 6 5. _ _ . 1202424ma:ma—am
Tf ————— 1000000 ¥ = fraet FEAW &
o el §7

a) 420 b) 180
/@(6[ / %/360 d) 400
YeTRE

PnC | |5



PnC

5¢ @ 63.Find the number of different 8-letter
I

6! x> = 72046

R‘la\l aYYa.M‘}N W — O)
8l - u32o
= M0320-U3zo

arrangements that can, be r/nade from the
letters of the word DAUGHTER so that

(i) all vowels occurtogether -3

(ii) all vowels do not occur together.
DAUGHTER 2s¢ & 318RT & 8 37&T are
et 1 gear 7 fifew, afy
(i) ¥ F&OX TH @I Wl Y320

(ii) 9 TR TH 1T AE TE

a) 4320, 40320 )so 4230, 36000

44320, 36000 _d) 4230, 40320




@ 6M. Flnd the number of arrangements of the letters of the word

......

(i) do the words start with P
I ] / (ii) do all the vowels always occur together 12—5=7

(iii) g no two vowels occur together

31 x2]x4] (iv) do the words begin W|tl®nd end in P?

N B E INDEPENDENCE 2Te€ & 38R ¥ daa ard Aegrar &6y
2¢c ‘sv &A1 AT ST | 37 [y & 9 fraa J=gmar A,

<, (i) e P RS 81T & 2

(i) WY TaX WeT UF WY §?

—SL—XEL— (iii) FE 8fY g TEX TF WY G &2

3lvabul (iv) s 1§ W @Y & 3 3919 3 PE AT ¥ 2
LN =
3Ll > Qe 3lv2iyy,
Xely\yg S

PnC | |7



65. In how many of the distincjc permutations
M o of of the letters in MISSiSSiPPI do th{ four I's

Totad mo.of  _ onvem I ot come together?
OMOm prtut g : / MISSISSIPPI 7R & T fAea-
79""2"‘(}‘" ¢ wmﬁrmﬁ#ﬁmﬁﬁaﬁlw
' *"W YT A 3T &2
33810 b) 32560
NP 8 /;;r?,osso d) 31540
Ylura Aul 20
! Sp '
I1x10vq

PnC | |8



66.1n hoy Jnapy ways can the letters of the word
P _______ S '(|') \}vbrds start with P and end with S,
(||) vowels are all together,
|0 ’ (|||) there are always 4 letters between P and S?

PERMUTATIONS e & &l &I fhder aller &
12-C = gafeyd f&am S ¥ar &3
5 (i) IITAT ereg T YR PH 9T 39 ST & Bl
7C| (ii) TIT asg A WY TAX v @y ¥
Slx'sl (iii) IAfAT reg F PAYUT SF HET T 4 HEW & ?

IxI0 ! (Nw an&>

PnC | |9



pls  mids Ay
“N/x ol

—— C— ——— c— o Stm—

20



’ €7. How many words, with or without meaning,
| each of 3 vowels and 2 consonants can be
‘vlc X 5 fprm d fom the letters of the word
UC_?,X - INVC LdTE ?
I INVOLUTE 2/sg & 3Rl &, 3rdqol &
Ue FET YRAF 3 TR aUT 2 ForA A,
[ forder ereal Y Y ST Fhdr &7
2440 2880
4 190 =2.380 a)
d x §x120 =2 ¢) 2660 d) 3220
& .

Y xqux Yy

PnC | |1



1
nCY’:' Cn',-r

817
o 20 - loxax

lox9

2]




¢8.How many words, with or without
5C &5CBX 5'! meaning, each of 2 vowels and 3
- consonants can be frme/d from the
letters of the word DAUGHTER ?
2 X 10X]20= DAUGHTER 26& & 3&aTT & Fraet
Ao I7 31T ersal v T #Y S
FHA &, FafF TAF wsg A 2 TR
dqgT 3 <ol B ?
3600 b) 1200
c) 2400 d) 4800

PnC | |3



_ €9. How many words, with or without
@/@ meaning, can be iormed using all the
N & letters of the word Egle/Tl/O'N at a time so
that the vowels and Lonsonants occur

together?

21 X351 x3] EQUATION e & 37aTT & fFae,
rdqet a1 e, ersal A AT
= 12x[20 mﬂﬁﬁ%,aiﬁ?wamm
TF 1T @A & ?
a) 1460 1440
c) 1620 d) 1480

PnC | |4
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